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Finding Failure Causes from Logs is Hard! Challenge B: Summarizing Tables Usefully

20:24:44 INFO
20:32:25 INFO
20:32:26 INFO
20:32:28 INFO
20:33:28 INFO

u@ 34 Running CREATE INDEX midx ON metrics (id);
u@ 35 Running SELECT * FROM metrics WHERE id=562;
u@ g35 Ran in 607.31ms

u@ 936 Running SELECT * FROM metrics WHERE id=555;
u@ 936 Query timed out
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Worst ATE Error Best ATE Error
F=0.50 p_f=1.0 41.78% 0.37%
p_f=0.5  95.50% 1.92%
p_f=0.2 148.00% 5.00%
F=0.10 p_f=1.0 42.59% 0.08% ) .
° Dataset Sawmill  Regression  AskGPT
p_f=0.5  95.00% 5.74% cc u ra cy . MRR MRR MRR
p_f=0.2 181.11% 18.33% Dataset True Sawmill ~ Regression ~ AskGPT
PosTGReSQL 0.5667 0.0476 0.4815 ATE ATE ATE ATE
F=0.01 p_f=1.0 38.61% 0.06% PROPRIETARY ~ F=0.5 pr=10 1.0000 1.0000 0.0000 = T=03 510 | 25543 | 25747 7301 .00
_ ROPRIETARY =0.. f: A X o . .
p_f=0.5 100.00% 5.81% Pf:0‘5 1.0000 1.0000 0.3333 pr=0.5 | 114.86 | 112.66 118.04 112.66
pf=0.2 123.23% 48.48% - Pg— - Ef'_(l](z)_ - :_gg_gg_ L _1%33_3 - L _ég%gg_ - pr=0.2 | 2871 27.28 25.94 27.28
. . . . LT - =0. pr=1 2 . - TF=01" T py=1.0 | 25843 | 25861 | T 25601 | 000
User | M:Free IiIndex | L:Latency D: Data | T: Timeouts ATE Error using Sawmill-picked Aggregates Pr=0.5 | 1.0000 1.0000 0.0000 §§=o,5 11486 | 12145 | 11938 0.00
Memor Presence | Mean (ms) | Size (GB er da pr=02 | 1.0000 1.0000 0.0000 pr=02 | 2871 | 3398 35.30 0.00
Y (ms) (GB) P Y Worst ATE Error Best ATE Error T F=00l 5;:1_5 = 10000 [ T1.0000 ~ | 0.0714 " T F=001 T ppe10 | 25843 | 25857 | T26450 | 25857
Uy 67.80 % 1 637.02 64.41 56852 Velo Rel 2.32% 0.05% pr=05 | 1.0000 0.0667 0.0000 pfig.g 121;;316 22.22 i?z: g.g
Ui 80.96 % 0 372.60 38.07 29164 R=5 60.90% 3.67% pr=02 1.0000 0.0667 0.0000 XYZ V=10 [I;f=1 : 2.60 2.;)0 2460 2.60
XYZ V=10 R=1 0.6667 0.6667 0.4007 R=5 2.00 211 2.10 211
R=10  351.81% 1.33% R=5 0.6111 0.5556 0.6667 _ i i : '
. - - R=10 2.00 1.97 1.98 1.97
V=100 R=1 5.25% A B 0 O~~~ ATE CErrrAarriece 1N OO0/ IA\va1nnry B R=10 | 0.6667 | 0.5833 | 0.0664 TV=I000 TR=I |7 200 | T196 | T 195 T T T236
Re5 60.98% 15.16% V=100 ~ R=1 0.6667 0.5476 0.5000 R=5 2.00 1.60 1.58 0.00
' ’ R=5 0.6667 0.5370 0.0000 R=10 | 200 | 087 | 08 | 097
R=10 95.73% 53.27% R=10 0.3889 0.6667 0.5000 V=1000 ~ R=1 2.00 1.78 0.37 0.00
V=1000 R=1 10.97% 10.97% T V=1000 ~ R=1T ~ [ 0.6667 | 00000 [ 0.1667 gifo g'gg 00"155 ;)1';’51 g'gg
Res 60.03% 60.03% R=5 0.6667 0.0000 0.8333 = : - - !
) ! R=10 0.6667 0.0000 0.1667 Mean % Error on PROPRIETARY 11.72% 14.64% 67.44%
R=10 94.03% 94.03% M = Mean % Error on XYZ 28.83% 47.88% 49.50%
ean on PROPRIETARY 1.0000 0.7926 0.1561
ATE Error using Sawmill-picked Aggregates Mean on XYZ 0.6296 0.3952 03667 Mean % Error 20.27% 31.26% 58.47%
Mean 0.8018 0.5651 0.2730
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§ PoSTGRESQL 37.65 441 4.85 4691 | 239
< PROPRIETARY  F=0.5 pr=10 | 189.19 48.58 2.62 240.39 1.06
pr=0.5 | 18951 | 4883 | 3.20 24154 | 1.07
_____ pre02 | 19558 | 4952 | 518 || 24808 | 110
F=01" " pp=1.0 (719450 7| 2911 [ 322 246.83 T 1.09
pr=0.5 | 18953 | 49.18 | 3.24 24195 | 1.07
pr=0.2 | 189.58 | 49.50 | 3.28 24236 | 1.07
g L4 T F=001 T ppS10[T190.70 | 49997 [T 331 | 2400 T T.08
o pr=05 | 187.09 | 4947 | 338 239.94 | 1.06
° pr=02 | 19118 | 4930 | 3.43 24391 | 1.08
XYZ V=10 R=1 72.33 4.26 2.40 7899 | 132
R=5 80.04 5.27 2.98 8829 | 148
R=10 79.69 4.70 3.09 8748 | 147
T V=100 T R=1 T |T135.67 | 3324 [ 359 | 118250 | 2.95 ~
R=5 14414 | 3387 | 3.87 181.88 | 2.94
R=10 14467 | 3379 | 3.97 18243 | 2.95
T V=1000 T R=1 T |7853.14 7| 326:83 [ 838 || T188.35 T 18.90 °
R=5 82243 | 33447 | 891 || 1165.81 | 18.54
R=10 849.08 | 33559 | 15.09 || 1199.76 | 19.08
Mean 260.30 | 82.09 | 453 34692 | 430
Breakdown (%) 75.03% | 23.66% | 1.30%
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G h Dataset System Al | |d0|<|O| x| OO =
L] rap PosTGRESQL ~ Sawmill 1 1 1 1 2 3 1 0 0 10
Regression | 1 111 1 0 001 0 5
AskGPT 1111 0o [3]1]0 2 10
PROPRIETARY  Sawmill 1101 1 1 1 1]0 0 6
Regression | 1 | 0 [ 1 1 0 0] 0|1 0 4
AskGPT 1011 0 11]o0 1 6
XYZ Sawmill To0[1[1 2 310 0 9
Regression | 1 | 0 [ 1 [ 1 0 001 0 4
AskGPT 1011 0o [3]|1]0 2 9
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8881 User-tagged (parsed by regex) PROPRIETARY v |/ X | A | @®@| @ X A
oool Us!ng preceding 3 tokens XYZ V =10 s S v/ A A
NN Using GPT-3.5-Turbo V =100 ® ® v/ A A A A A
w7 Using GPT-4 =
No good tag found V=1000 | A | A | X | A | A | A A A
oronrictar v/:non-empty graph A:30-minute timeout
prietary @ :empty graph X: error
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